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1)  Use a proportion to solve for x. 

 

    25                          10 

                                         
                 15                       x 
                 
                
 

2) Find the value of the following. ሺെ3ሻଷ =    െ2ସ    =  

 (െ5ଶ)  =    

 

3) Solve for x. െ100 = 12x – 4 

4) Solve for the variable.  

3n + 46 = 1 + 8n 
 
 
 
 
 
 

5) Simplify.  
 

10xy – 5x + 12xy – 15 – 10x + 2 
                       

6) Solve for x. 
 

4(5x – 7) = 10n + 2 
 

 
 
 
 
 

7) Find the value of the following. 

2x + 10y - ݕଶ   when x = 2 and y = 5

 

 

8) Simplify the following expression. 

         െ5x + 8 െ 4ݔଶ െ 4x + 2ݔଶ 

9) Simplify the expression below. 

8xy – 10x + 5xy 

 

10) What is the quotient of: ݔଵ଴ݔ଺  

 


